1.

x9] gkol -1,0,1,24 W, "4 3x -4 = x -89 sf&?

D x=-1 @ x=0 ®x=1
@ x=2 ® a7t gitt.



=

QAYHA x4 4= 72 B Sltel b wole] B9 4R F
A}gsfoF h 5127

(a1
H7]

@ a=bolHa+c=0b+c ot}

©a=bolHa-c=b-c°|th

© a=0>b °|9H ac = bc °]t}.
@ a=bold ¢ =2 otk (F.c0)

Cc

NS @ © ®06e ®©o0e 066



3. oS AT AT AA A2?
@ 3x+6-3x @ x*+1=-x
® 2x-1=3(x-1)-x @ x+x*+3=x

® x+x2+1=x



b2 dap g Alo] g 7o) s E 7 220
4x+b=—-ax+3

@(1:2 @a:3 @a:
@ a+3 ® a+-4




Qo) 2ol o] St 79l ARl e] AAgE AUk o] A5 A
Ak o] seApet Q0] Ao o] £ vk AQLE & S0 2uct
1853 Ak AL A5l A Aee] 48 2t B W), e F

22 78

@ 2(7T+x)=x+7-18 @ 14x-18=10x+7
® 4x=x+7-18 @ 70+ x-18 =2(10x+7)
® 2(70 +x) = 10x+7-18



6. AR o}y 2] 9] Lrol= 1he] tro] o] 3Hjo] ANt 15 o= 1}9] Lo
o] 287} Hh, @A ofH ] 9] Lfo]=?

D 36 @ 39 @ 42 @ 45 & 4



71z29] Zdo]7h Alze] Zol et sem ¥ A1, Se2] 2017} 18cm <
22k 0] ol i

@ 12cm? @ 14cm? @ 16cm?

@ 18cm? ® 20cm?



%

o} Lhire] 0] 3 4K Lol 341 8 A7}

SIS x ol B
T, 4 A el F9 54 A7E ateich ofw), B4ole] Ao
Tk 402 HhE 719

@ 3x-8=4x+54 @ -3x-8=4x+54

® 3x+8=4x+54 @ 3x+8=4x-"54

® -3x+8=-4x-54



9.  10% o A%E 200g ol A= 40g tl 4 oW A= 5
7F =71

rr

D 10% @ 15% 3 20% @ 25% ® 30%

W,
X



a. b9 3o 2727

5

o7 ¢]

j
54

3

SMax+3=2x+b7}

®a=3b=3

el
I
S
~
I
S
©

@ a=3,b=1

M I~ |

@D a=3,0b
@ a=2,b



™ o

SH
=]

oW B40] o HA
olct. olnf, £

11.

L)
1

® 24 @ 30 ® 36

@ 18

12



